Shrikrishna Science Centre, Patna
(A Unit of National Council of Science Museums)
APTITUDE TEST FOR TECHNICIAN — A (Electrical)
Full marks : 30
Time : 1 Hour

Q1. ﬂ’(ﬂ fawea ?ﬁ Choose the correct option (1X10)
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For testing appliances, the wattage of test lamp should be
a)dyH Low b) HTHI HH Very low
c) 3HeH high d)ﬁé ff a9 Any value

Tie afem & oft du o § Y 93 89 &

Lamps in street lighting are all connected in

a) %EFIT | Series b) %{@'ﬂT AR AR | Series-parallel
¢) THHIR " parallel d) = T 3fd dF end to end

TF $Heaex &I TRy frads Jgepdrard gidl g2

The resistance of a conductor varies inversely as

a) FWI% Length b) ATUR] PIc % &FHA area of cross-section

c) digHI— temperature ddY RIgsar resistivity

78 ¥ figgd &1 Ted oS Jaad & g2
Which is the best conductor of electricity?

a)?ﬁ‘e’T Iron b)fﬂ_Cﬁ Silver

c) GIE Copper d) HIa Carbon

TSl R P ST gAR fFud wmed @t S g2

The rating of a fuse wire is always expressed in
a) KWH KWH b) UERR HeT ampere-hours

c)ﬁ'iﬁl'q'\r amperes d)m—aﬁ ampere-volts
Fofifed & @ o9 @ 7 e gTar aRuy & Wit § 99 6 g

Which of the following quantity remain the same in all parts of a series circuit?

a) dleedl  Voltage b) fdgga Ry Current
c) Tfad Power d) IRIL] Resistance

gfe <t axie &1 gear i 8 d &1 $H g1 =IiRe?

If the efficiency of a machine is to be high, what should be low?

a)ﬁa'QT Tfad Input power
b) 6![31 Losses
c)ﬁ P el Uch True component of power

d)ﬁa'QT 3R IdAE IR SJUId  Ratio of output to input

viii) U7k €/ & faw dic Rie fog 9w &1 &1 81 8

The heat sink for the power diode is made up of

SERI ﬁ-‘l@ Porcelain b) ¥ steel
C)Gﬁﬁm germanium d)@fﬁﬁm aluminium
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Cells are connected in series in order to —

a) ﬁaga YRT SgH & fag Increase Current

b)@lﬁ?ﬂ El?ﬂef & fau increase the Voltage

c)@ﬁ & oilgd o Q'@ %ﬂ increase the life of cells

d) 3faRe UfRIey geq & ﬁ*l'q decrease internal resistance

fIggd URT Uarg &I A0 & U THICR &I fbad gl T dliey
Ammeter should be connected to measures current flow in the

a) Tifver gfde Series circuit b) THMIR gfde parallel circuit
c) gcil gfhe open circuit d) g gfhe close circuit

fafifed @ gof ®u faRag,

Write full form of the following, (1X5)
a) BDV

b) XLPE

c) ACB

d) GFCl

e) ELCB

350 9Ic @I WiGd dral Th AMbover fed # 12 8¢ W =l 8, 39 30 fea & fow
TEifrd w3 & RN gy St @1 and & AT B3| [egd el B W T 6.50
g

A refrigerator having a power rating of 350 watts operating for 12 hours a day, Calculate the cost
of electrical energy to operate it for 30 days. The rate of electrical energy is Rs.6.50

(5)
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What do you mean by Earthing? Why Earthing of electrical equipment is essential?
(2+3)

Td 49 ACHRR &1 Fidhe ARG 1Y, TN fHU U gedh! &1 I B 3R
e 3R 3MT3CYC JaBIH & WY FUB! HAUUNC! B AR B

Draw a circuit diagram of a full wave rectifier, mention the components used and explain its
functioning with input and output waveformes.
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